

# TOWN OF WESTWOOD J. W. HALDING COMMONWEALTH OF MASSACHUSETTS

#### **BASE CONTRACT**

ITEM DESCRIPTION & BID PRICE	EST QTY.*	UNIT	TOTAL
THE SUM OF:  Fifty thousand  OC  AND Zero  (\$ 50,000.00 ) PER UNIT	0.1	A	\$ <u>5,000.00</u>
ITEM 102.1: TREE TRIMMING    THE SUM OF:	425	FT	\$ 6,375.00
THE SUM OF:	2	EA	\$ 800.00
THE SUM OF:  Two thousand eight hundred  AND Zero  (\$ 2,800.00 ) PER UNIT	2	EA	\$ <u>5,600.00</u>



ITEM DESCRIPTION & BID PRICE	EST QTY.*	UNIT	TOTAL
TEM 120: EARTH EXCAVATION	85	сү	\$ <u>0.85</u>
THE SUM OF:	3,770	СҮ	\$ <u>37.70</u>
THE SUM OF:  Three hundred  DOLLARS  AND Zero  CENTS  (\$ 300.00 ) PER UNIT	10	CY	\$ <u>3,000.00</u>
TEM 141.1: TEST PIT FOR EXPLORATION    THE SUM OF:	15	CY	\$ <u>3,000.00</u>



ITEM DESCRIPTION & BID PRICE	22 July 10 1 Kalendarina 100	EST QTY.*	UNIT	TOTAL
ITEM 142: CLASS B TRENCH EXCAVATION				
THE SUM OF: Zero	_ DOLLARS			4.0.00
AND One	CENTS	20	CY	\$ 0.20
(\$ 0.01 ) PER UNIT				
ITEM 144: CLASS B ROCK EXCAVATION			_	
THE SUM OF: Three hundred  AND Zero		10	СУ	\$ <u>3,000.00</u>
(\$300.00) PER UNIT				
ITEM 145: DRAINAGE STRUCTURE ABANDONED				
THE SUM OF: One thousand  AND Zero		1	EA	\$ 1,000.00
(\$ 1,000.00 ) PER UNIT				
ITEM 146: DRAINAGE STRUCTURE REMOVED		<u> </u>		
THE SUM OF: One thousand  AND Zero		3	EA	\$ <u>3,000.00</u>
(\$ 1,000.00 ) PER UNIT				



ITEM DESCRIPTION & BID PRICE	EST QTY.*	UNIT	TOTAL
ITEM 150: ORDINARY BORROW			
THE SUM OF: Zero DOLLARS  AND One CENTS	250	CY	\$ <u>2.50</u>
AND One CENTS  (\$ 0.01			
ITEM 151: GRAVEL BORROW			
THE SUM OF:           Zero         DOLLARS           AND One         CENTS	2,450	CY	\$ <u>24.50</u>
(\$) PER UNIT			
ITEM 153: CONTROLLED DENSITY FILL - EXCAVATABLE			
THE SUM OF:	10	СУ	\$ <u>1,200.00</u>
ITEM 156: CRUSHED STONE			
THE SUM OF:	10	TON	\$ <u>400.00</u>
(\$ 40.00 ) PER UNIT			



ITEM DESCRIPTION & BID PRICE	EST QTY.*	UNIT	TOTAL
THE SUM OF: Thirty three DOLLARS  AND Zero CENTS  (\$ 33.00 ) PER UNIT	8,330	SY	\$ <u>274,890.00</u>
ITEM 201: CATCH BASIN  THE SUM OF:	4	EA	\$ <u>140,000.00</u>
ITEM 202: MANHOLE         THE SUM OF:	1	EA	\$ 35,000.00
THE SUM OF:  DOLLARS  AND Zero CENTS  (\$ 500.00 ) PER UNIT	17	EA	\$ 8,500.00



ITEM DESCRIPTION & BID PRICE	EST QTY.*	UNIT	TOTAL
THE SUM OF:  Three thousand three hundred  AND Zero  CENTS  (\$ 3,300.00	1	EA	\$ <u>3,300.00</u>
THE SUM OF: One thousand two hundred  AND Zero  (\$ 1,200.00  DER UNIT	1	EA	\$ <u>1,200.00</u>
THE SUM OF:  Five hundred  AND Zero  CENTS  (\$ _500.00) PER UNIT	3	EA	\$ 1,500.00
THE SUM OF:  Two thousand eight hundred  AND Zero  CENTS  (\$ 2,800.00 ) PER UNIT	6	EA	\$ 16,800.00



ITEM DESCRIPTION & BID PRICE	EST QTY.*	UNIT	TOTAL
ITEM 223.2: FRAME AND GRATE (OR COVER) REMOVED AND DISCARDED  THE SUM OF:  Three hundred DOLLARS  AND Zero CENTS  (\$ 300.00 ) PER UNIT	3	EA	\$ 900.00
ITEM 227.3: REMOVAL OF DRAINAGE STRUCTURE SEDIMENT  THE SUM OF:  Four hundred  DOLLARS  AND Zero  CENTS  (\$ _400.00) PER UNIT	1	СУ	\$ 400.00
TEM 227.31: REMOVAL OF DRAINAGE PIPE SEDIMENT    THE SUM OF:	300	FT	\$ 3,000.00
ITEM 227.4: MASONRY PLUG         THE SUM OF:	5	SF	\$ 0.05



ITEM DESCRIPTION & BID PRICE	EST QTY.*	UNIT	TOTAL
ITEM 241.12: 12 INCH REINFORCED CONCRETE PIPE  THE SUM OF:	65	FT	\$ 18,200.00
THE SUM OF: One hundred ninety  AND Zero  CENTS  (\$ 190.00  DELATE PIPE CLASS IV  DOLLARS	25	FT	\$_4,750.00
THE SUM OF:	5	EA	\$ <u>2,000.00</u>
THE SUM OF: Four hundred  AND Zero  CENTS  (\$ 400.00	1	EA	\$ <u>400.00</u>



ITEM DESCRIPTION & BID PRICE	EST QTY.*	UNIT	TOTAL
ITEM 402: DENSE GRADED CRUSHED STONE FOR SUB-BASE	<u> </u>		
THE SUM OF:			
AND One CENTS	250	CY	\$ 2.50
(\$ <u>0.01</u> ) PER UNIT			
ITEM 415.3: PAVEMENT MICRO MILLING			
THE SUM OF: DOLLARS	1,400	SY	\$ <u>14,000.00</u>
AND Zero CENTS			
(\$ 10.00 ) PER UNIT			
ITEM 431: HIGH EARLY STRENGTH CEMENT CONCRETE BASE COURSE			
THE SUM OF: Fifty three DOLLARS	25	634	\$ 1,855.00
AND Zero CENTS	35	SY	\$ 1,000.00
(\$) PER UNIT			
ITEM 440: CALCIUM CHLORIDE FOR ROADWAY DUST CONTROL			
THE SUM OF: Zero DOLLARS  AND Forty CENTS	6,200	LB	\$ <u>2,480.00</u>
(\$ 0.40 ) PER UNIT			



ITEM DESCRIPTION & BID PRICE	EST QTY.*	UNIT	TOTAL
ITEM 443: WATER FOR ROADWAY DUST CONTROL			
THE SUM OF: One hundred DOLLARS	25	MGL	\$ 2,500.00
AND Zero CENTS			·
(\$	:		
ITEM 450.23: SUPERPAVE SURFACE COURSE – 12.5 (SSC – 12.5)			
THE SUM OF: Ninety eight DOLLARS	360	TON	\$ 35,280.00
AND Zero CENTS			<u> </u>
(\$ _98.00) PER UNIT	į		
ITEM 450.31: SUPERPAVE INTERMEDIATE COURSE – 12.5 (SIC – 12.5)	:		
THE SUM OF: One hundred two DOLLARS	180	TON	\$ 18,360.00
AND Zero CENTS	100	1011	<b>*</b>
(\$102.00) PER UNIT		i	
ITEM 450.32: SUPERPAVE INTERMEDIATE COURSE – 19.0 (SIC – 19.0)			
THE SUM OF: Ninety eight DOLLARS	410	TON	\$ <u>40,180.00</u>
AND Zero CENTS			
(\$ 98.00 ) PER UNIT			



ITEM DESCRIPTION & BID PRICE	EST QTY.*	UNIT	TOTAL
ITEM 450.52: SUPERPAVE LEVELING COURSE - 9.5 (SLC - 9.5)    THE SUM OF:	20	TON	\$ <u>1,960.00</u>
THE SUM OF: Two hundred  AND Zero  (\$ 200.00	120	TON	\$ <u>24,000.00</u>
THE SUM OF:  Three  DOLLARS  AND Zero  CENTS  (\$ 3.00 ) PER UNIT	545	GAL	\$ 1,635.00
THE SUM OF:  One  DOLLARS  AND Zero  CENTS  (\$	3,125	FT	\$ 3,125.00



ITEM DESCRIPTION & BID PRICE	EST QTY.*	UNIT	TOTAL
THE SUM OF: Seven hundred DOLLARS  AND Zero CENTS  (\$	1	TON	\$ 700.00
ITEM 472: TEMPORARY ASPHALT PATCHING  THE SUM OF:  Two hundred  DOLLARS  AND Zero  CENTS  (\$	15	TON	\$ 3,000.00
ITEM 482.5: SAWCUTTING ASPHALT PAVEMENT FOR BOX WIDENING  THE SUM OF:	200	FT	\$ <u>400.00</u>
THE SUM OF:  DOLLARS  AND _Zero CENTS  (\$ 40.00 ) PER UNIT	5,430	FT	\$ <u>217,200.00</u>



ITEM DESCRIPTION & BID PRICE	EST QTY.*	UNIT	TOTAL
ITEM 506.1: GRANITE CURB TYPE VB - CURVED         THE SUM OF:         Fifty three       DOLLARS         AND Zero       CENTS         (\$ 53.00       ) PER UNIT	340	FT	\$ 18,020.00
THE SUM OF:  Eighty five  DOLLARS  AND Zero  CENTS  (\$ 85.00  ) PER UNIT	12	FT	\$ <u>1,020.00</u>
ITEM 509: GRANITE TRANSITION CURB FOR PEDESTRIAN CURB RAMPS – STRAIGHT  THE SUM OF: Forty eight DOLLARS  AND Zero CENTS  (\$ 48.00 ) PER UNIT	560	FT	\$ _26,880.00
ITEM 509.1: GRANITE TRANSITION CURB FOR PEDESTRIAN CURB RAMPS - CURVED  THE SUM OF: Fifty nine DOLLARS  AND Zero CENTS  (\$59.00) PER UNIT	330	FT	\$ 19,470.00



ITEM DESCRIPTION & BID PRICE	EST QTY.*	UNIT	TOTAL
ITEM 514: GRANITE CURB INLET - STRAIGHT	11	EA	\$ <u>4,510.00</u>
THE SUM OF: One hundred ninety eight  AND Zero  (\$	80	EA	\$ <u>15,840.00</u>
THE SUM OF:	3,070	FT	\$_101,310.00
THE SUM OF: One hundred forty  AND Zero  (\$ 140.00  DER UNIT	9	EA	\$ 1,260.00



ITEM DESCRIPTION & BID PRICE		EST QTY.*	UNIT	TOTAL
ITEM 594: CURB REMOVED AND DISCARDED		-2		
THE SUM OF: Eleven	DOLLARS	1,060	FT	\$ 12,190.00
AND Fifty	CENTS	1,000	•	<u> </u>
(\$) PER UNIT	8			
ITEM 597: EDGING REMOVED AND DISCARDED				
THE SUM OF: Ten	_DOLLARS	200	FT	\$ 2,100.00
AND Fifty	CENTS			
(\$) PER UNIT				
ITEM 691: BALANCE STONE WALL REMOVED AND REBUILT				
THE SUM OF: Ninety	_ DOLLARS	40	FT	\$ 3,600.00
AND Zero	CENTS			
(\$ _90.00) PER UNIT				
ITEM 697.1: SILT SACK				
THE SUM OF: One hundred	_ DOLLARS	11	EA	\$ 1,100.00
AND Zero	CENTS			
(\$100.00) PER UNIT				



ITEM DESCRIPTION & BID PRICE	EST QTY.*	UNIT	TOTAL
ITEM 701: CEMENT CONCRETE SIDEWALK  THE SUM OF: Forty five  AND Zero  (\$ 45.00 ) PER UNIT	4,140	SY	\$ <u>186,300.00</u>
ITEM 701.1: CEMENT CONCRETE SIDEWALK AT DRIVEWAYS  THE SUM OF: Forty five  AND Zero  (\$ _45.00) PER UNIT	1,220	SY	\$ 54,900.00
THE SUM OF: Sixty  AND Zero  (\$60.00) PER UNIT	330	SY	\$ 19,800.00
THE SUM OF: One hundred forty five  AND Zero  (\$	114	TON	\$ <u>16,530.00</u>



ITEM DESCRIPTION & BID PRICE		EST QTY.*	UNIT	TOTAL
THE SUM OF: Seven hundred  AND Zero  (\$ _700.00) PER UNIT	DOLLARS	9	SY	\$ 6,300.00
THE SUM OF: One hundred eighty  AND Zero  (\$180.00) PER UNIT		150	SY	\$ 27,000.00
THE SUM OF: Seven hundred  AND Zero  (\$700.00) PER UNIT		2	EA	\$ <u>1,400.00</u>
ITEM 751: LOAM BORROW		630	СУ	\$ 31,500.00



ITEM DESCRIPTION & BID PRICE	EST QTY.*	UNIT	TOTAL
THE SUM OF:  One  DOLLARS  AND Ninety  (\$	5,070	SY	\$_9,633.00
ITEM 767.121: SEDIMENT CONTROL BARRIER    THE SUM OF:	860	FT	\$ <u>4,730.00</u>
THE SUM OF:	15	СУ	\$ 1,200.00
THE SUM OF:	125	SF	\$ 2,500.00



ITEM DESCRIPTION & BID PRICE	EST QTY.*	UNIT	TOTAL
ITEM 786.106: JUNIPER – BLUE PACIFIC    THE SUM OF:	6	EA	\$ <u>240.00</u>
ITEM 786.109: JUNIPER - 'BLUE RUG' 12-15 INCH   THE SUM OF:	3	EA	\$ <u>120.00</u>
THE SUM OF:  Thirty  DOLLARS  AND Zero  CENTS  (\$ 30.00  DER UNIT	8	EA	\$ 240.00
THE SUM OF:  Thirty three  DOLLARS  AND Zero  CENTS  (\$ 33.00  DER UNIT	4	EA	\$ 132.00



ITEM DESCRIPTION & BID PRICE	EST QTY.*	UNIT	TOTAL
ITEM 796.763: DAYLILY - 'STELLA D'ORO' 1 GALLON    THE SUM OF:	25	EΑ	\$ 625.00
ITEM 804.3: 3 INCH ELECTRICAL CONDUIT TYPE NM – PLASTIC –(UL)  THE SUM OF: Sixty two DOLLARS  AND Zero CENTS  (\$ 62.00 ) PER UNIT	160	FT	\$ 9,920.00
THE SUM OF: Three thousand five hundred DOLLARS  AND Zero CENTS  (\$	3	EA	\$ 10,500.00
THE SUM OF: Sixty two thousand  OCENTS  (\$ 62,000.00  DOLLARS	1	LS	\$ 62,000.00



ITEM DESCRIPTION & BID PRICE	EST QTY.*	UNIT	TOTAL
ITEM 832: WARNING-REGULATORY AND ROUTE MARKER ALUM. PANEL (TYPE A)  THE SUM OF: Twelve DOLLARS  ANDEighty CENTS  (\$12.80) PER UNIT	230	SF	\$ <u>2,944.00</u>
(\$	40	EA	\$ 4,960.00
ITEM 848.1: SIGN SUP (N/GUIDE)+RTE MKR W/2 BRKWAY POST ASSEMBLIES - STEEL  THE SUM OF:  Two hundred fifteen  DOLLARS  AND Zero  (\$ _215.00		EA	\$ 430.00
THE SUM OF:  Fifteen  DOLLARS  AND Zero  (\$	650	SF	\$ 9,750.00



ITEM DESCRIPTION & BID PRICE	EST QTY.*	UNIT	TOTAL
ITEM 852.11: TEMPORARY PEDESTRIAN BARRICADE			
THE SUM OF: Forty DOLLARS	100	FT	\$ 4,000.00
AND Zero CENTS			
(\$ 40.00 ) PER UNIT			
ITEM 852.12: TEMPORARY PEDESTRIAN CURB RAMP			
THE SUM OF:           Eight hundred         DOLLARS           AND Zero         CENTS           (\$ 800.00         ) PER UNIT	4	EΑ	\$ 3,200.00
ITEM 853.1: PORTABLE BREAKAWAY BARRICADE TYPE III			
THE SUM OF:	8	EA	\$ 800.00
ITEM 856: ARROW BOARD	(1		
THE SUM OF:	140	DAY	\$ <u>1,190.00</u>



ITEM DESCRIPTION & BID PRICE	EST QTY.*	UNIT	TOTAL
THE SUM OF:  Nineteen  DOLLARS  AND Zero  CENTS  (\$ 19.00  ) PER UNIT	140	DAY	\$ 2,660.00
THE SUM OF:	8,890	DAY	\$ 1,778.00
THE SUM OF:  Three  DOLLARS  AND Zero  CENTS  (\$ 3.00  DRUMS WITH SEQUENTIAL FLASHING WITH SEQUENTIAL FLASHING WARNING LIGHTS  PLASHING WITH SEQUENTIAL FLASHING WITH SEQUENTIAL FLASHING WARNING LIGHTS  DOLLARS  OF CENTS	640	DAY	\$ <u>1,920.00</u>
ITEM 864.04: PAVEMENT ARROWS AND LEGENDS REFLECTORIZED WHITE (THERMOPLASTIC)  THE SUM OF: Forty DOLLARS  AND Zero CENTS  (\$ 40.00 ) PER UNIT	170	SF	\$ 6,800.00



ITEM DESCRIPTION & BID PRICE	EST QTY.*	UNIT	TOTAL
THE SUM OF: Six DOLLARS  AND Zero CENTS  (\$ 6.00  ) PER UNIT	170	SF	\$ <u>1,020.00</u>
THE SUM OF:  Sixty six  AND Zero  CENTS  (\$66.00) PER UNIT	42	EΑ	\$ 2.772.00
THE SUM OF: One DOLLARS  AND Ten CENTS  (\$	2,400	FT	\$ <u>2,640.00</u>
ITEM 866.112: 12 INCH REFLECTORIZED WHITE LINE (THERMOPLASTIC)  THE SUM OF:  Four  DOLLARS  AND Ninety  CENTS  (\$ 4.90  ) PER UNIT	470	FT	\$ <u>2,303.00</u>



ITEM DESCRIPTION & BID PRICE	EST QTY.*	UNIT	TOTAL
THE SUM OF: One DOLLARS  AND Ten CENTS  (\$ 1.10  DEFINITION  DEFINITION  OR DOLLARS  OPER UNIT	3,050	FT	\$ 3,355.00
THE SUM OF:  Four  DOLLARS  AND Ninety  (\$ 4.90  DERIVATION OF THE SUM OF THE	150	FT	\$ <u>735.00</u>
THE SUM OF: DOLLARS   AND Fifty	2,400	FT	\$ 1,200.00
ITEM 868.12: 12 INCH REFLECTORIZED WHITE LINE (EPOXY)    THE SUM OF:	470	FT	\$ <u>1,692.00</u>



ITEM DESCRIPTION & BID PRICE	EST QTY.*	UNIT	TOTAL
THE SUM OF:  Zero  DOLLARS  AND Fifty  CENTS  (\$	3,050	FT	\$ <u>1,525.00</u>
THE SUM OF: Three DOLLARS  AND Sixty CENTS  (\$ 3.60 ) PER UNIT	150	FT	\$ 540.00
THE SUM OF:	8	EA	\$ <u>456.00</u>
THE SUM OF: Seventy five DOLLARS  AND Zero CENTS  (\$ 75.00 ) PER UNIT	22	EA	\$ 1,650.00



ITEM DESCRIPTION & BID PRICE	EST QTY.*	UNIT	TOTAL	
THE SUM OF: Fifty DOLLARS  AND Zero CENTS  (\$	1	EA	\$ 50.00	
THE SUM OF:  Fifty  DOLLARS  AND Zero  (\$	8	EA	\$ 400.00	
ITEM 999: POLICE SERVICES           THE SUM OF:         Seventy Thousand         DOLLARS           AND         Zero         CENTS           (\$	1	LS	\$ <u>70,000</u>	
TOTAL BID BASE CONTRACT:				
One million six hundred ninety three thousand five hundred ninety eight DOLLARS				
AND thirtyCENTS				
(\$ <u>1,693,598.30</u>			)	
Amount in Figures				



#### **ADD-ALTERNATE #1**

ITEM 120.1: UNCLASSIFIED EXCAVATION			
THE SUM OF:	-		
Zero DOLLARS	411	СУ	\$ <b>4</b> .11
AND One CENTS	7.1		<u> </u>
(\$ <u>0.01</u> ) PER UNIT			
ITEM 151: GRAVEL BORROW			
THE SUM OF:		:	
Zero DOLLARS	274	CY	\$ 2.74
AND One CENTS	2/4		<u> </u>
(\$ <u>0.01</u> ) PER UNIT			
ITEM 170: FINE GRADING AND COMPACTING – SUBGRADE AREA			
THE SUM OF:			
Forty two DOLLARS	1,061	SY	\$ 44,562.00
AND Zero CENTS			
(\$ <u>42.00</u> ) PER UNIT		:	
ITEM 381.3: SERVICE BOX ADJUSTED			
THE SUM OF: Four hundred DOLLARS	14	EA	\$ 5,600.00
AND Zero CENTS	1 14		<u> </u>
(\$ _400.00) PER UNIT			



ITEM 451: HMA FOR PATCHING			
THE SUM OF:	28	TON	\$ <u>5,600.00</u>
			:
THE SUM OF:  Forty one  DOLLARS  AND Zero  CENTS  (\$ 41.00  ) PER UNIT	1,443	FT	\$ <u>59,163.00</u>
ITEM 506.1: GRANITE CURB TYPE VB - CURVED			
THE SUM OF:	34	FT	\$ 1,836.00
(\$) PER UNIT			
ITEM 509: GRANITE TRANSITION CURB FOR PEDESTRIAN CURB RAMPS - STRAIGHT			
THE SUM OF:  Forty nine  DOLLARS	127	FT	\$ 6,223.00
AND Zero CENTS			
(\$ 49.00 ) PER UNIT			



ITEM 509.1: GRANITE TRANSITION CURB FOR PEDESTRIAN RAMPS - CURVED			
THE SUM OF: Sixty DOLLARS	31	FT	\$ <u>1,860.00</u>
AND Zero CENTS			
(\$			
ITEM 514: GRANITE CURB INLET - STRAIGHT			
THE SUM OF:  Four hundred sixteen  DOLLARS	4	EA	\$ 1,664.00
AND Zero CENTS  (\$ 416.00 ) PER UNIT			
ITEM 516: GRANITE CURB CORNER TYPE A			
THE SUM OF: One hundred ninety eight DOLLARS	18	EA	\$ 3,564.00
AND Zero CENTS	10	LA	<u> </u>
(\$) PER UNIT			
ITEM 580: CURB REMOVED AND RESET			
THE SUM OF:  Thirty four  DOLLARS  AND Zero  CENTS	869	FT	\$ 29,546.00
(\$			



ITEM 582: CURB CORNER REMOVED AND RESET			:
THE SUM OF:			
One hundred eighty two DOLLARS	6	EA	\$ 1,092.00
AND Zero CENTS			·
(\$182.00 ) PER UNIT			;
ITEM 594: CURB REMOVED AND DISCARDED	-		
THE SUM OF:			
DOLLARS	0.47		s 2,604.00
AND Zero CENTS	217	FT	\$ 2,004.00
(\$ <u>12.00</u> ) PER UNIT			
ITEM 701: CEMENT CONCRETE SIDEWALK			
THE SUM OF:			
Ninety DOLLARS			
7000	725	SY	\$ 65,250.00
AND Zero CENTS			
(\$			
ITEM 701.2: CEMENT CONCRETE PEDESTRIAN CURB RAMP			
THE SUM OF:			
<u>Ninety</u> DOLLARS	11	CV	\$ 990.00
AND Zero CENTS	11	SY	\$
(\$ <u>90.00</u> ) PER UNIT			
ITEM 702: HOT MIX ASPHALT SIDEWALK OR DRIVEWAY			
THE SUM OF:			
Two hundred DOLLARS	4.0	TON	\$ 3,200.00
AND Zero CENTS	16	TON	\$ 0,200.00
(\$ <u>200.00</u> ) PER UNIT			



	THE RESERVE		
ITEM 751: LOAM BORROW			
THE SUM OF:			
Fifty DOLLARS	55	CY	\$ 2,750.00
AND Zero CENTS	22	Cf	\$ <u>uivovioo</u>
(\$			
ITEM 765: SEEDING			
THE SUM OF:			
One DOLLARS	497	SY	\$ 944.30
AND Ninety CENTS	437	31	¥
(\$ <u>1.90</u> ) PER UNIT			
ITEM 847.1: SIGN SUP (N/GUIDE)+RTE MKR W/1 BRKWAY POST ASSEMBLY – STEEL			
THE SUM OF: One hundred twenty five DOLLARS			
DOLLARS	3	EA	\$ 375.00
AND Zero CENTS			
(\$ 125.00 ) PER UNIT		!	
ITEM 874.2: TRAFFIC SIGN REMOVED AN RESET			
THE SUM OF: Eighty DOLLARS	9	EA	\$ 720.00
AND Zero CENTS	ש	EA	Ą <u>188.80</u>
(\$ _80.00 ) PER UNIT			



**BASE BID PRICE** 

#### TOWN OF WESTWOOD COMMONWEALTH OF MASSACHUSETTS

#### ATTACHMENT D BID PRICING SHEET

Bid form must be completed in ink or by typewriter. The bid price for each item on the form shall be stated in figures. Discrepancies between indicated sum of any column(s) and the correct sum of any column(s) will be resolved in favor of the correct sum. Please Attach Additional Sheets if necessary.

The Bidder submits this bid proposal to perform all of the work (including labor and materials) as described in the solicitation for this Base Bid Price (including the costs for all Allowances, Incidentals, Bonds, and Addenda):

Total Bid in figures	\$ 1,693,598.30			
Total Bid in words	\$ One million six hundred nin and thirty cents	nety three thousand five hundred ninety eight dollars		
ADD ALTERNATE #1 PRICE				
Total Bid in figures	\$ 246,550.15			
Total Bid in words	\$ Two hundred forty six thousand five hundred fifty dollars and fifteen cents			
MSU  Signature of individual submit	ting bid or proposal			
Brad Shalek, Vice President	and are or proposer	508-588-2222		
Printed Name of individual su	bmitting bid or proposal	Business Phone Number		
I.W. Harding Construction Co.	Inc.	bshalek@iwharding.com		
Printed Name of company sul	omitting bid or proposal	Business Email		